limt *“’52&4@@ 102 BEEE—2HIE I FE = M&E éy*zﬁ%’iﬂﬂufi
— BEEERE(IL 15 4 > BREAEIEE 5 00 0 BEEAERD)
1.\/§sec70°—csc70°: 1W)-2 )2 B)-4 #H2\3 (5)4

25 0<x<7> y=4sinx_zﬁsin(x-fé) s Rlly BYER/MER (1) -2 (2)——12— 3)—3 (4)—? (5)-1

35122 x = S(sinx—[sinx]) - HIHLEFIRATIEBAE £4(8 2
DLfE @208 G3{E @4 ()51

TUERE(IE 40 5y EREAEHE 8 7 SE—{EEEIES 5 4y > S (EEIAS 2 57)
LARBHREL y = f(x) = 2sin(2x —%) +1 (x BRERD ZEF > THIR A& L ?

(WBEH R 2)-2<f(x)<2 EHEEPHERER X :13:_ (DHBETCHIAEGY y oh

(5B y = g(x) = 2sin 2x + 1 VB (145 P4 — %ﬁfl HIET R gy = f (x) VIETE -

2.5 KB y = cosx E’Jﬁé@ﬁ?ﬁ’?% B ﬁﬂ@’iﬂﬂ%ﬁ% f& > WSEE(RYE 4 (5% > FTISEAYRE 7

(1) y =4cos(2x —%) (2)y =4cos(2x + —7—2[—) B)y= 4cos(—;—x ——7-2[-) @y= 4cos(%x+ %) (5) y =—4sin2x

3.TFFIEFHIERE?  (Dsin2 >sinl  (2)cos2 >cosl  (3)sinl >cosl  (4)tan3 > cot3  (S)csc(— 1) >cot(—1) °

By = a+bsin(cx +d) IN—(EEZ BV AHE > 6>0 > >0 0<d <27 > [T/ LHE?

— — - T _ A1
(Da=2 (2b=6 (B)c=2 (4)d 5 (S)a+b+c=—5 /-‘K
0 <’ 7
5. TFI & ERE » AEBELE? (27, ~1)

(1)2sinxcosx  (2) ]sin x} (3)sinx+cosx (4)8cos’ 2x—6¢cos2x+1 (5) +1

2sin(2x+5) + 1
37 2




= EeEdt 35 77)

EEIFEEL 1 2 3 4 5 6

S 8 16 22 27 31 35

1408 > ST ACB (3% AB =18 » JILACB #1515 24 » JLhEEC BL3% AB (PR M ~ FE8ER 3 > RISTH ACB
TR RS

A€ E">p

18

2. 582703 sin2x — cos2x = 1 JA-27 < x < 2 HIEIPAVE
O
QH A TRV R

3MEEIT  4x% +9y* =36 F{E—BLEEHAR 2x— 4y +5 =0 WA KEERER
4x~ kBEH > EHERXsin*x+2sinx+ k=027 x FE - Rk VEE

S — (BTG R0 10 AR 0 BB FA— T SHASOM % CD » CD//AB » OM LCD >
SPREAHELEE OM +CD HIEAIE R AR

C M
<6
A 0 B
ra.ETEREEE 10 97)

PRy = f(x) = 3cos<—§x+§) GETY (B TR -

(DEAERIHREL y = f(x) WETAAE y = cos x AYE T4l fds - FHAETRIMTS 7 35 W g 8 B R
(5 57)
QAEH LB y = f(x) FEO < x <4z YIS - WEARAA AR R L AR (EREHY AL (5 97)

e
feln

°



B R R = Ak PR 102 B2 S — 2RSS B = SR H R H BRI E B

D4k RS e
— BUEEGL 15 5y > BEEHE S 9T EEEAEE)
. (5) 2 (3) s (4)

T ABEGE 402 SRERHE 8 4y S EEESG S 5 B (EEEE 24)
LD (3 2. )5) 3. 0B)&) 4. 0W(E) s 0)(5)

=IEAE
EHRRE 1 2 3 4 5 6
55 8 16 22 27 31 35
; 3TU
1. ql 2.(1) % ' (2) i
(&3 D =
3, B 4. ”%éﬁé\ 5. |1 0J ¢
PO TE—EEE 10 99) = ’3: DIV ,/'§ . /~
(WG ) (ﬁﬂlﬁﬂ 4a g & ﬂjr’@' 3, e =839, 2| 55
g . SR IR s /mﬁ?f:; xS
._-"’ - = Q. pal 2 . §:>‘\.
H—lﬁ$ Lf;/s 3/“; O S5 ~ ““‘77[ J.Lc;'z(f)(.'.%)
‘//,L—:l L — 15 (L ey
é(] {Qi\ 7\]&*/\% E 3-/(1‘ /\}\Il/ 3'(;2) ‘i‘*éﬂf\ fﬂi\\" T/? _)_E P
(2)(5 M = 3y p ,‘ » Q L )
(* Rm e :

\4

£l l_-./z))

2



